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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

\…ˆ„GÁ_ ( Geography ) 
 ( V`] Yy f LXaeFÓÁ \…ˆ„GÁ_ ) 

( 10th Paper : Geography of Population ) 
a]Ã^  f ªV«c˜O H∞RÙOÁ Y…SÔ]ÁX  f 50 
Time : 2 Hours Full Marks : 50 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
(Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

◊[˝\ˆÁG - Eı 
1* Â^ ÂEıÁX V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 10 × 2 = 20 
 (Eı) LXaeFÓÁ Y◊Ã[˝aeFÓÁ„XÃ[˝ ◊[˝◊\ˆ~ =dam◊_ ◊Eı ◊Eı ? 

LXaeFÓÁ aey‘Á‹ôˆ TˆUÓ [˝Ó[˝c˜Á„Ã[˝Ã[˝ %a«◊[˝W˝Á a]…c˜ 
=‰{F EıÃ[˝”X* 

 (F) LXaeFÓÁ ◊[˝[˝Tˆ¤X ]„Qˆ_◊ªRÙO a]Á„_ÁªJÙXÁac˜ [˝ÓÁFÓÁ 
EıÃ[˝”X* 

 (G) LXa+V %á˚_ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? Ackerman-
AÃ[˝ ]Tˆ %X«aÁ„Ã[˝ LXaeFÓÁ a+V %á˚_m◊_Ã[˝ 
◊[˝[˝Ã[˝S ◊VX* 

 (H) ◊_Ü %X«YÁTˆ ◊Eı ? \ˆÁÃ[˝„Tˆ 2011 %ÁV]a«]ÁÃ[˝› 
%X«^ÁÃ^› ◊_Ü %X«YÁ„TˆÃ[˝ %Áá˚◊_Eı TˆÁÃ[˝Tˆ]Ó EıÁÃ[˝Sac˜ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 

◊[˝\ˆÁG - F 

2* Â^ ÂEıÁX ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 3 = 18 

(Eı) ]ÓÁ_UÁ„aÃ[˝ LXaeFÓÁ [˝ ◊à˘ a+◊EÔıTˆ Tˆ√º¯◊ªRÙOÃ[˝ ae◊l˘ä 
[˝ÓÁFÓÁ EıÃ[˝”X* 

(F) [˝Ã^a G–‹öˆXÁ ◊[˝‰`¿b„SÃ[˝ Yà˘◊Tˆm◊_ [˝SÔXÁ EıÃ[˝”X* 

(G) LXaeFÓÁÃ[˝ %UÔÍX◊TˆEı GPˆ„XÃ[˝ TˆÁdY^Ô ◊Eı ? 

(H) ]ÁX[˝ =~Ã^„XÃ[˝ aÁ„U ◊`l˘ÁÿôˆÃ[˝ ◊Eı\ˆÁ„[˝ a+◊EÔıTˆ ? 

(I¯) LXaeFÓÁ \…ˆ„GÁ„_Ã[˝ Y◊Ã[˝◊W˝ C ◊[˝bÃ^[˝ÿô«ˆ ae„l˘„Y 
=‰{F EıÃ[˝”X*  

(ªJÙ) G–Á] ÂU„Eı `c˜„Ã[˝ ÂEıX ◊XÃ^◊]Tˆ\ˆÁ„[˝ Y◊Ã[˝^ÁX H‰ªRÙO ? 

◊[˝\ˆÁG - G 

3* Â^ ÂEıÁX ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 3 × 4 = 12 

(Eı) ◊X\ˆ¤Ã[˝`›_TˆÁÃ[˝ %X«YÁTˆ ◊Eı ? 

(F) LX ◊[˝„ÿˆïıÁÃ[˝S ◊Eı ? 

(G) EıÁ]Ó LXaeFÓÁÃ[˝ aep˚Á ◊VX* 

(H) aÁ◊[˝ÔEı Y“LXX c˜ÁÃ[˝ ◊Eı ? 

(I¯) LXΩc˜Á„Ã[ Ã̋[˝ YÁUÔ„EıÓÃ[˝ Â^ ÂEıÁX V«◊ªRÙO EıÁÃ[˝S =‰{F 
EıÃ[˝”X* 

(ªJÙ) [˝ÁW˝ÓTˆÁ]…_Eı Y◊Ã[˝^Á„XÃ[˝ aep˚Á ◊VX* 

(ªK˜) `ÁÃ[˝›Ã[˝[˝ w¯›Ã^ HX±ºˆ ◊Eı ? 

(ªLÙ) ◊X∏JÙ_ LX[˝ ◊à˘ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 
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( English Version ) 

Group – A 

1. Answer any two questions : 10 × 2 = 20 

 a) What are the different sources of population 

statistics ? Mention the difficulties in using 

such statistics.  

 b) Explain with criticisms the Demographic 

Transition model. 

 c) What is meant by population resource 

region ? Give an account of the population 

resource regions after Ackerman. 

 d) What is sex ratio ? Discuss with reasons 

the regional variations in sex ratio in India 

as per 2011 Census. 

Group – B 

2. Answer any three questions : 6 × 3 = 18 

 a) Explain briefly the Malthusian theory of 

population growth. 

 b) Describe the different methods for analysis 

of age composition. 

 c) What is the significance of economic 

composition of population ? 

 d) How is educational level related to human 

development ? 

 e) Briefly mention the scope and content of 

population geography. 

 f) Why does migration take place regularly 

from rural to urban areas ? 

Group – C 

3. Answer any four questions : 3 × 4 = 12 

 a) What is dependency ratio ? 

 b) What is population explosion ? 

 c) Define optimum population. 

 d) What is total fertility rate ? 

 e) Mention any two reasons for variation in 

birth rate. 

 f) Define forced migration. 

 g) What is physiological density ? 

 h) What is meant by zero population growth ? 

    


